South San Antonio

SOUTH SAN ANTONIO INDEPENDENT SCHOOL DISTRICT

Agenda Item Summary

Meeting Date: July 19, 2017			
Purpose: Report Only	☐ Recognition	☐ Discussion/ Possible Action	
From:			
	e of leveled readers to	support the Balanced Literacy Ini	tiative and
increase student outcomes			
Description:			
I l-1 l ' F l'-l l	C	Jamantal magazina yand ta mrayida	targated reading
lessons during guided reading to	o increase the number	plemental resource used to provide of students reading on level in gra	des K-2.
Recommendation:			
		e Balanced Literacy Initiative in g 20 Purchasing Cooperative—Contr	
District Goal:			
		ing opportunities across the curric lue their education and motivate th	
Funding Dudget Code and Amer			CEO Ammorial
Funding Budget Code and Amo	State of the state	1.00	CFO Approval
199-11-6399-00-XXX-899-00 r	not to exceed \$111,734	4.92	

APPROVED BY:

SIGNATURE

Chief Officer:

Superintendent:

DATE

Revised: June 2017

	Justification for L	eveled Reader Se	lection July 2017	
	Capstone	Pacifiic Learning	Harcourt	Scholastic
English Leveled	246 titles which includes 123 fiction and 123 nonfiction titles and are aligned to the Fountas and Pinnell Continuum. Includes teaching notes. Each title sixpack comes in sturdy zip-loc bag and is organized in boxes by level.		Somewhat aligned to the Fountas and Pinnell Continuum, but not exactly which is not good while teachers are learning continuum.	Readers do not align to Fountas and Pinnell continuum.
Spanish Leveled Readers		36 titles for letter recognition and letter-sound relationships. 118 guided reading titles that are nonfiction. Aligned to Fountas and Pinnell continuum. Also, 107 titles of fiction titles that go beyond level N to level Q. Aligned to Fountas and Pinnell Continuum.	No Spanish Leveled Readers above an N.	Very limited Spanish titles. They do not align to the Fountas and Pinnell Continuum. No Spanish readers above an N.

	Title/Description		ISBN	Catalog Price	Qua	ntity	Total
Engage L	iteracy Leveled Readers L	evels A-P: Bookroo	m Package with	Extension	ns		
Includes 1476 (6 copies of 246 titles 123 Fiction and 123 Nonfiction texts Record for each title and Michael For Each title Six-Pack is packaged with close plastic bag and organized in be) leveled readers with GRLs A-P-, 246 teaching notes which includerd's Guided Readng: What's New its corresponding 6 page teaching	This package contains le an Oral Running v, and What's Next?		\$8,322.52	x	9	\$74,902.6
			978-1-5157-8838-6				
					Si	ubtotal	\$74,902.6
			-	Free Shipp	ina w/C	anstone	
Capstone Rewards #					•	Rewards	
		••••••••••				Total	\$74,902.6
•••••••••••••••••••••••••••••••••••••••	Please att	ach to your Purchase Order.	A				
		***************************************		<u>.</u>	İ	Ĺ	
		How To Order:					
By Mail:	By Phone:	By Fax					
Capstone Classroom Customer	1-888-262-6135	1-888-57	4-33/U				
Service Department 1710 Roe Crest Drive	Online: www.CapstoneClassroom.co	Emai	@CapstoneClassroom.com				•••••
North Mankato, MN 56003	www.capstoneciassiocin.cc		E Capsione Classicom.com		Ī	:·····	
1401B1 Marikato, Mile 50005		•	:				•
***************************************		or More Information:	Å		Ä		ă
	evin Werling (512) 296-5452	::::::::::::::::::::::::::::::::::::::	i k	evin@werlinar	nexus.co	m	******************************

					-	
Title/Descript	tion	ISBN	Catalog Price	Qu	antity	Total
	Primeros Sonio	los				
There are 36 titles in this Series.			\$1,156.68	x	4	\$4,626.72
An innovative three-part approach to Spanish relationships using single words to sound ou words and a fun entertaining short story for e	t simple rebus sentences using the	978-1-4966-0386-9	-			
	Nonder Readers en Espanol Co	omplete Bookroon	1			
There are 127 titles in this Classroom Collecti	on.		\$4,027.03	x	4	\$16,108.12
Wonder Readers en Espanol Complete Packa guided reading books, all written at levels A-N Social Studies content. 9 nonfiction Big Book Overview. All books come in classroom stora	I, all written in Math, Science or s, Teacher's Guide and Program	978-1-62065-615-0				
					Subtotal	\$20,734.84
Constant Boundary		**************************************	Fre	e Shippin	yw/Capstone Rewards	
Capstone Rewards #						\$20,734.84
·	Please attach to your Pu	rchase Order.				
***************************************		••••••••••••••••••••••••••••••••••••••				
	How To Orde	ri				
By Mail:	By Phone:		By Fa			
Capstone Classroom Customer	1-888-262-6135	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~		74-5570		
Service Department	Online:	******************************	Ema			
1710 Roe Crest Drive North Mankato, MN 56003	www.CapstoneClassroom.	com custo	mer.service	@Capsi	oneClassro	m.com
***************************************		***************************************	<u>.</u>	***************************************	<u>.</u>	
Kevin Werling (512)	For More Informat	ion:	kevin@wer	dinanevi	e com	
neviii vvening (512)	430-0404	<u> </u>	VEALLIERME	mignexu	3.00111	

Pacific Lear	ning					
6262 Katella						
Cypress, CA 906	30			PIC		
(800) 279-0737	FAX (714) 516-8369					
			E A K N	A STATE OF THE STA		
Federal Tax ID	‡ 33-0881950					
		ar consensus				<u> </u>
	Proposal					
PROPOSAL FO	₹		使用的重化的发展			
Courth Con 1	ICD / Amy Chielde					
South San I	SD / Amy Shields			QUANTITY	(A	MOUNT
	TITLE			QUANTITY	(A	MOUNT
		\$	4,024.35	QUANTITY 4	(16,097.40
ITEM # PL-6790SP	TITLE Levels A-Q Hopscotch Bookroom - Spanish:	\$			\$	16,097.40
ITEM # PL-6790SP	TITLE Levels A-Q Hopscotch Bookroom - Spanish: 762 books (6 each of 107 titles)	\$			\$	
ITEM # PL-6790SP	TITLE Levels A-Q Hopscotch Bookroom - Spanish: 762 books (6 each of 107 titles)	\$			\$	16,097.40
ITEM # PL-6790SP	TITLE Levels A-Q Hopscotch Bookroom - Spanish: 762 books (6 each of 107 titles)	\$	4,024.35		\$	16,097.40

and the wholesand



Houghton Mifflin Harcourt

Cost Proposal
Prepared For

South San Antonio Ind Sch Dist

5622 Ray Ellison Blvd San Antonio TX 78242

For the Purchase of:

Rigby Reading

Prepared By
Elisa Rodriguez
elisa.rodriguez@hmhco.com

PLEASE SUBMIT THIS PROPOSAL WITH YOUR PURCHASE ORDER.



Houghton Mifflin Harcourt

Attention: Amy Shields ashields@southsanisd.net

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

k12orders@hmhpub.com

Proposal Date: 5/5/2017

Proposal for South San Antonio Ind Sch Dist Rigby Reading

			Rigby Reading	9 Sale	Puro	hase	Complimentary
15	SBN	Title		Price	Quantity	Amount	Quantity
Grade	K						
	 Materials and S	ervices					
•	naterials and C	0111003					
1270572	978141892660	Rigby PM Platinum Collection Con Magenta (Level1)	nplete Package Starters I	\$768.00	6	\$4,608.00	
1270782	978141892731	Rigby PM Plus Starters Complete (Level 1 & 2)	Package Nonfiction Magenta	\$230.40	6	\$1,382.40	
1270574	978141892661	Rigby PM Platinum Collection Con Magenta (Level 2)	nplete Package Starters II	\$768.00	6	\$4,608.00	
1270684	978141892698	Rigby PM Plus Starters Complete	Package Magenta (Level 1)	\$499.20	6	\$2,995.20	
1270687	978141892699	Rigby PM Plus Starters Complete	Package Magenta (Level 2)	\$499.20	6	\$2,995.20	
1270131	978141892514	Rigby PM Stars Complete Package	e Magenta (Levels 2-3)	\$384.00	6	\$2,304.00	
1270769	978141892727	Rigby PM Coleccion Complete Pac (magenta)	ckage magenta basicos 1	\$614.40	4	\$2,457.60	
1270766	978141892726	4 Rigby PM Coleccion Complete Par	ckage rojo (red)	\$921.60	4	\$3,686.40	
;	Total for Mater	als and Services				\$25,036.80	
(Gratis					·	
1270772	978141892728	B Rigby PM Coleccion Complete Pa (magenta)	ckage magenta basicos 2	\$614.40			4
;	Total for Gratis						
Tota	l for Grade K					\$25,036.80	
Grade	e 1					1	
	 Materials and S	andese					
	itiateriais and c	el vices					
1270655	978141892688	5 Rigby PM Plus Complete Package	Nonfiction Red (Levels 3-5)	\$230.40	6	\$1,382.40	
1270703		9 Rigby PM Plus Complete Package		\$230.40	6	\$1,382.40	
1270597	978141892668	7 Rigby PM Plus Complete Package	Nonfiction Blue (Levels 9-11)	\$230.40	6	\$1,382.40	
1270578	978141892662	5 Rigby PM Platinum Collection Cor 3-5)	nplete Package Red (Levels	\$921.60	6	\$5,529.60	
1270624	978141892677	9 Rigby PM Plus Complete Package 12-14)	Nonfiction Green (Levels	\$230.40	6	\$1,382.40	
1270554		0 Rigby PM Platinum Collection Cor 9-11)	-	\$921.60	6	\$5,529.60	
1270563		1 Rigby PM Platinum Collection Cor 12-14)		\$921.60	6	\$5,529.60	
1270548		6 Rigby PM Collection Complete Pa (Levels 15-16)		\$691.20	6	\$4,147.20	
1270779		1 Rigby PM Coleccion Complete Pa	• •	\$921.60	4	\$3,686.40	
1270756		6 Rigby PM Coleccion Complete Pa	• • •	\$921.60	4	\$3,686.40	
1270757		3 Rigby PM Coleccion Complete Pa		\$921.60	4	\$3,686.40	
1270760		0 Rigby PM Colection Complete Pa	ckage anaranjado (orange)	\$921.60	4	\$3,686.40	
	Total for Mater	ials and Services				\$41,011.20	
ı	Gratis						
1270586	978141892665	6 Rigby PM Platinum Collection Cor 6-8)	mplete Package Yellow (Levels	\$921.60			6
1270638	978141892682	3 Rigby PM Plus Complete Package 15-16)	Nonfiction Orange (Levels	\$230.40			6
1270776	978141892729	5 Rigby PM Coleccion Complete Pa	ckage turquesa (turquoise)	\$921.60			4
	Total for Gratis	;					
A and			Attention:			Custome	er Experience
AT		n at 6611	Amy Shields				Park Center Loop
	Houghton	Mifflin Harcourt	ashields@southsanisd.r	net			o, FL 32819 00-269-5232
			HMH Confidential and Propr	ietary			@hmhpub.com

Expiration Date:6/19/2017

Proposal for South San Antonio Ind Sch Dist Rigby Reading

			Sale	Pur	chase	Complimentary
!	SBN	Title	Price	Quantity	Amount	Quantity
Tota	l for Grade 1				\$41,011.20	
<u>Grade</u>	<u>∍ 2</u>					
ŀ	Materials and S	ervices				
1270696	978141892702	B Rigby PM Plus Complete Package Nonfiction Turquoise (Levels 17-18)	\$230.40	6	\$1,382.40	
1270646	978141892685	4 Rigby PM Plus Complete Package Nonfiction Purple (Levels 19-20)	\$230.40	6	\$1,382.40	
1270618	978141892675	5 Rigby PM Plus Complete Package Nonfiction Gold (Levels 21-22)	\$230.40	6	\$1,382.40	
1270710	978141892707	3 Rigby PM Collection Complete Package Story Book Purple (Levels 19-20)	\$691.20	6	\$4,147.20	
1270516	978141892642	7 Rigby PM Collection Complete Package Story Book Gold (Levels 21-22)	\$864.00	6	\$5,184.00	
1270763	978141892725	7 Rigby PM Coleccion Complete Package morado (purple)	\$921.60	4	\$3,686.40	
•	Total for Materi	als and Services			\$17,164.80	
(Gratis					
1270752	978141892721	9 Rigby PM Collection Complete Package Story Book Turquoise (Levels 17-18)	\$659.20			6
	Total for Gratis					
Tota	l for Grade 2				\$17,164.80	
	Proposal					
	Summary					
		Subtotal Purchase Amount:		\$83,212	2.80	
1		Shipping & Handling (5.00%):		\$4,160	.64	

Total Cost of Proposal (PO Amount):

\$87,373.44



Houghton Mifflin Harcourt

Attention: Amy Shields ashields@southsanisd.net

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

k12orders@hmhpub.com

Proposal Date: 5/5/2017

Proposal for South San Antonio Ind Sch Dist Rigby Reading

Expiration Date:6/19/2017

Total Cost of Proposal (PO Amount): \$87,373.44

This is a cost proposal only.

This cost proposal is subject to HMH's Standard Terms and Conditions ("Ts & Cs") below:

http://www.hmhco.com/common/terms-conditions

Ts & Cs are also found on HMH invoices.

HMH reserves the right to modify its Ts & Cs from time to time and agrees to notify you prior to such modifications becoming effective.

Date of Proposal: 5/5/2017

Proposal Expiration Date:6/19/2017



Houghton Mifflin Harcourt



Houghton Mifflin Harcourt

Attention: Amy Shields ashields@southsanisd.net

HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232

k12orders@hmhpub.com

₩SCHOLASTIC **EDUCATION**

ORDER

Number

EODSQ2433

Date

May 15, 2017

Scholastic Education P.O. Box 7502 Jefferson City, MO 65102-9964 (Ph) (800) 724-2222, Option 3 (Fax) 800-560-6815

Sold To:

South San ISD Amy Shields 5622 Ray Ellison San Antonio, TX 78242

Phone

Fax

Ship To: South San ISD

Amy Shields 5622 Ray Ellison San Antonio, TX 78242

Phone

Fax

P.O. Numbe	r	Prepared By:	Ship Via	1	Teri	ms
Item#	Qty	Description	Unit List	Disc %	Unit Price	Ext. Price
6CU 526371	1	Guided Reading Text Types, Kindergarten (Levels A-D) 40 titles, 6 copies each	\$1,335.95	10%	\$1,202.36	\$1,202.36
6CU 526373	1	Guided Reading Text Types, Grade 2 (Levels E-N) 100 titles, 6 copies each	\$3,089.95	10%	\$2,780.96	\$2,780.96
6CU 514488	1	Guided Reading Fiction Focus-2nd Ed, Grade 1 (Levels, A-I) 90 titles, 6 copies each	\$2,955.95	10%	\$2,660.36	\$2,660.36
230 titles, 6 copies ead	ch, Teach	er Guide Authored by Fountas and Pinnell	, Teacher Card	ds &	SubTotal	\$6,643.68
storage bins.	•	2000 gg/2000/000 00 000/00000000 10 00 2 0 00 000000000000000000000000000			Tax	\$0.00
5% Shipping Per AE.					Shipping	\$332.18
Thank you for your bu	siness!				Total	\$6,975.86

Elizabeth A. Stamper estamper@scholastic.com 210-305-2679 cell 210-499-0993 fax

PRICES SUBJECT TO CHANGE - PRICES BASED UPON TOTAL PURCHASE - ALL DELIVERY, TRAINING OR CONSULTING SERVICES TO BE BILLED AT PUBLISHED RATES FOR EACH ACTIVITY INVOLVED. WE SPECIFICALLY DISCLAIM ANY AND ALL WARRANTIES, EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED TO ANY IMPLIED WARRANTIES OR WITH REGARD TO ANY LICENSED PRODUCTS. WE SHALL NOT BE LIABLE FOR ANY LOSS OF PROFITS, BUSINESS, GOODWILL, DATA, INTERRUPTION OF BUSINESS, NOR FOR INCIDENTIAL OR CONSEQUENTIAL MERCHANTABILITY OR FITNESS OF PURPOSE, DAMAGES RELATED TO THIS AGREEMENT. STATE LAW REQUIRES SALES TAX BE ADDED TO YOUR ORDER UNLESS WE HAVE SALES TAX EXEMPTION CERTIFICATE ON FILE. TAX ON THIS QUOTE IS YOUR ESTIMATED TAX, ACTUAL TAX WILL BE CHARGED AT THE TIME OF SHIPPING. SCHOLASTIC TERMS ARE FOB SHIPPING